1210-90 Exam 1

K \ Spring 2014
Name E /

Instructions. Show all work and include appropriate explanations when space is provided. Correct
answers unaccompanied by work may not receive full credit. Please circle your final answers.

1. (24pts) Compute the following limits. Be sure to show your work. Note: Answers can be values, +oo,
—00, or DNE (does not exist). An answer of DNE requires some explanation!

@ g =2 = Cost) L2y
z-01+4 3sinz ] 4 3$m(0) | +o -

0 20 = e X2 o t
2512 — 4 — 5 Xrs (x—;)()({—l) X2g X+l

i £ %05z ‘\W\ )((!’(,09)() L hiwt | - ¢ X
© 5 XFo TR K70 X o

@ Jim o ,
Whew WA x— 1T, X +3 >4 ad (x-1) — o . Note MVH’
. wiew  x =1y o (x=1)>>0. So wl"w"’"\\
| l w X 7‘+ 3 \_-\_S " .
xon xS 0D AN
2 .@‘Q
(e) 1imx_+133 ; 'v
7 o= x_al" Xz+3-—3‘f ol é)(“l) -0 ., Nﬂﬂ 1\’"’{— WL"’“ X<IJ
Whew J

h ( - )3<D ' Se ll'M' Lli{\
L{ )“llw x4 3 , Alhj whe 14) This plees X"" (x-) R&E/

_ X35 w0
X1 -3

2 R F L
(f) lim 522 + - 'lM X (5- "')‘) = 'lM ._L. l'M i%»)
z5—00 23 — O X = oD xg ('_Q/X,“) X-)..aa X x—)-..,o ‘.-/x

——
"



2

2. (14pts) Consider the function
2+ _ x{(x+1)

T e—m T sy

and z = .

(a) (2pts) f(z) is continuous everywhere except = =

(b) (4pts) f(z) has a horizontal asymptote at y =_,_. 1
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(c) (4pts) Compute alcl_r)r}) f(x).
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(d) (4pts) Find the value of ¢ that make the following function continuous at z = 0:
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g(z)={ ¢ if z=0.
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3. (10pts) Use the definition of the derivative to compute the derivative of f(z) = 3z2 + 7z; that is,

compute the limit
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4. (20pts) Compute the following derivatives. There is no need to simplify.

(a) Dy(x® — 222 + z - 3)
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(e) D(cos (sin (2z))))
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5. (6pts) Find i% if y = (1 +sinz)3.
(4 i’l{ 3_(|+smx) cosx
o%x”f_'

———

G(Hsiux)us"x -3 (H—SMX));‘MX

S




6. (8pts) Find the equation to the tangent line to the graph of the function f(z) = (17 — z2)~3 at the
point (4,1).
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7. (12pts) A ball is thrown upwards off the top of a 160-foot building. Its height (in feet) at time ¢
(measured in seconds) is given by

h(t) = —16t + 48t -+ 160.

(a) (3pts) Find the velocity of the ball at time ¢.

5 viH) = h'(e)=C 328+ 48
(b) (3pts) At what time does the ball reach its maximum height?
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(c) (3pts) At what time does the ball hit the ground?
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(d) (3pts) What is the acceleration of the ball at time ¢? T
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8. (6pts) Explain, using the Intermediate Value Theorem, why the function
fiz)=2*-2®+20-3
must have a root somewhere between z =1 and z = 2.
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